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Complete: 

a) 5   7 = …….. 

b) 3   9 = ……..  

c) 4   4 = …….. 

d) 8   3 = …….. 

e) 5   6 = …….. 

f) 9   7 = …..... 

g) 6   2 = …….. 

h) 7   8 = …….. 

i) 2   4 = …….. 

j) 8   10 = …….. 

k) 14   100 = …….. 

l) 3   1000 = ……… 

m) 210   100 = …….. 

n) 3 thousand = ……… 

o) 5 hundreds = ……… 

p) Nine tens = …….. 

q) Forty hundreds = …….. tens 

r) 4 pounds = ..…… piasters  

s) 1000   64 = …….. 

t) 100   9 = …….. 

u) 10   254 = …….

Write in words : 

a) 59 314 : 

…………………………………………………… 

…………………………………………………... 

b) 31 002 : 

…………………………………………………… 

…………………………………………………… 

c) 90 603 : 

…………………………………………...........

…………………………………………………… 

d) 51 000 : 

…………………………………………………… 

…………………………………………………… 

e) 45 407 : 

……………………………………………………

…………………………………………………… 

f) 94 018 : 

……………………………………………………

……………………………………………………

Write in digits :  

a) Seventy four thousand , five hundred sixty two :  

………………………………………………………………………………………………………………… 

b) Fourteen thousand , six hundred and nine :  

………………………………………………………………………………………………………………… 

c) Eight thousand and eleven . 

………………………………………………………………………………………………………………… 



d) Fifty thousand , five hundred and five . 

………………………………………………………………………………………………………………... 

Write the value of the underlined digit in the following : 

a) 32 507 : …………………………... 

b) 3 205 : …………………………….. 

c) 62 530 : …………………………… 

d) 17 869 : …………………………… 

e) 42 635 : …………………………... 

Write the place value of the underlined digit in the following : 

a) 43 521 : …………………………… 

b) 92 583 : …………………………… 

c) 1 049 : …………………………….. 

d) 67 328 : ………………………….. 

e) 41 593 : …………………………… 

Find :  

a) 2 359 + 3 410 = …………………. 

b) 1000 + 435 = …………………….. 

c) 209 + 31 899 = ………………….. 

d) 58 + 6 042 = ……………………… 

e) 781 + 9 219 = ……………………. 

f) 46 591 – 31 051 = ……………… 

g) 2 534 – 999 = ……………………. 

h) 72 531 – 531 = ………………….. 

i) 10 000 – 4321 = …………………. 

j) 13 794 – 8 976 = ………………… 

k) 18   6 = ……………………………. 

l) 42   7 = …………………………….. 

m) 81   9 = ………………………….. 

n) 35   5 = …………………………… 

o) 48   6 = …………………………... 

p) 63   7 = …………………………… 



q) 39   4 = ……………………………  

r) 48   3 = …………………………… 

s) 253   6 = …………………………. 

t) 987   8 = …………………………. 

u) 246   5 = ………………………… 

v) 4 431   7 = ………………………. 

w) 2 019   2 = ……………………… 

x) 4 537   9 = ………………………. 

y) 9 134   10 = …………………….. 

 

 

 

 

    

 

 

 

 

                                                    GOOD LUCK 

   

      

 
 


